Process ete” uru

C3, my =10GeV, A = 0.37 TeV 107 £02+1.1 128 £03 £ 1.1
D5, m, = 10GeV, A = 0.53 TeV 100+ 03 +1.1 123+ 03 +1.1
D8, m, =200GeV, A = 0.48 TeV 90£02£1.1 111 4+£02+£09
D9, my, =500GeV, A = 1.4TeV 2.67 £0.03 £0.41 2.81+£0.03+£0.26
Unparticle, dyy = 1.6, Ayy =33TeV  19.0 £ 03 £1.3 256+04+£17
Z/y* =0t 82+£19+08 8.6 £3.0+1.0
WZ — 30y 251+£05=£28 40.7 £ 0.7 £4.5
77 — 202v 59+1+£10 79+1+14
tt/tW/WW/Z — 17 18.7+34 £33 229 +£23+£34
Wjets 1.8 £0.6 £0.3 —

Total background 113 £4+£13 151 =4 £ 18
Data 111 133



